Pacnpepenutenu gpyxkackagHole ARON CETOP 7 / NG16 BSH.7

TexHn4YecKkne xapakTepucTUKM

ApxaHrenbck (8182)63-90-72  Vxesck (3412)26-03-58 MarnuToropck (3519)55-03-13 Mepmb (342)205-81-47

AcTaHa (7172)727-132 MpkyTck (395)279-98-46 MockBa (495)268-04-70 PocToB-Ha-[oHy (863)308-18-15
AcTpaxaHb (8512)99-46-04 KasaHb (843)206-01-48 MypmaHck (8152)59-64-93 PasaHb (4912)46-61-64

BapHayn (3852)73-04-60 KanvHuHrpap (4012)72-03-81 HabepexxHble YenHbl (8552)20-53-41 Camapa (846)206-03-16
Benropog (4722)40-23-64 Kanyra (4842)92-23-67 HwxHwnii Hoeropop (831)429-08-12  CankT-lMeTepbypr (812)309-46-40
BpAHck (4832)59-03-52 KemepoBo (3842)65-04-62 HoBoky3Heuk (3843)20-46-81 CapartosB (845)249-38-78
BnaausocTok (423)249-28-31  Kupos (8332)68-02-04 HoBocunbupck (383)227-86-73 CeBacTononb (8692)22-31-93
Bonrorpap, (844)278-03-48 KpacHonap (861)203-40-90 Owmck (3812)21-46-40 Cwumchbeponons (3652)67-13-56
Bonoraa (8172)26-41-59 KpacHospck (391)204-63-61  Open (4862)44-53-42 CMorneHceK (4812)29-41-54
BopoHex (473)204-51-73 Kypck (4712)77-13-04 OpeH6bypr (3532)37-68-04 Coun (862)225-72-31
EkaTepunHbypr (343)384-55-89 Jlvneuk (4742)52-20-81 Men3a (8412)22-31-16 Craspononb (8652)20-65-13
VBaHoBO (4932)77-34-06 Kunprunsua (996)312-96-26-47 KasaxcTtaH (772)734-952-31 TapxvkncTaH (992)427-82-92-69

EouHbin agpec onAa Bcex pernoHos: any @nt-rt.ru Il www.aron.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Yha (347)229-48-12
Xabaposck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnb (4852)69-52-93


mailto:any@nt-rt.ru
http://www.aron.nt-rt.ru

BSH.7... suBPLATES MOUNTING FOR ADH.7 TYPE PILOTED VALVES CETOP 7/NG16

BSH.7.12 witH P, T, AND A, B ReAR 3/4" Bsp

Single plate
for piloted valve

CETOP 7/NG16

No variant

R

Serial No.

Weight: 5,5 Kg
Fixing screws M8x55 UNI 5931

3/4" BSP rear connectors

101.8

140
160

1oL

128

117

80

44

DO

BSH.7.13 witH P, T anD A,B REAR 1" BSP

Single plate
for piloted valve

CETOP 7/NG16

No variant

SIEREIERE

Serial No.

Weight: 4,7 Kg
Fixing screws M8x55 UNI 5931

1" BSP rear connectors

96

13.05

59.9 1
)

A A

101.6

£9.2

140
160

10,

60

44

94

BSH.7.14 with P, T anp A, B sipe 3/4" Bsp

Single plate
for piloted valve

CETOP 7/NG16

No variant

SISREIERE

Serial No.

Weight: 6,3 Kg
Fixing screws M8x55 UNI 5931

3/4" BSP side connectors

101.6

140
160

10




BSH.7... suBPLATES MOUNTING FOR ADH.7 TYPE PILOTED VALVES CETOP 7/NG16

BSH.7.15 witH P, T anp A, B sipe 1" Bsp

Single plate 42.5
for piloted valve 1305 27
CETOP 7/NG16
@ 1" BSP side connectors
No variant
@ Serial No. "
Weight: 6,3 Kg | ‘ | T O
Fixing screws M8x55 UNI 5931 @ i " @) R
Ju Ld i 2
‘Y I I T '

Single plate 96 37.5 |
for piloted valve 8.9 (L 1205 2By ‘ j
D) o el
CETOP 7/NG16 O ¥ i 1 -
© .0 5 g AT
3/4" BSP rear and 4 |a Q} f\\
side connectors {t} . T i %%[,
{i} 9 8 B
No variant /% N
(1) | serial No. N
g R
B S L]
Weight: 5,1 Kg E
Fixing screws M8x50 UNI 5931 B

BSH.7.17 witH P anD T REAR, A AND B sipe 1" Bsp, X AND Y REAR

Single plate 96 42.556

for piloted valve 69.9 13.05 29 10
CETOP 7/NG16 -©- ©

R O

1" BSP rear and TRY

side connectors +
No variant 598
@ Serial No.

Weight: 5,3 Kg o

\
2
1ol

Fixing screws M8x55 UNI 5931




ApxaHrenbck (8182)63-90-72  Vxesck (3412)26-03-58 MarnuTtoropck (3519)55-03-13 Mepmb (342)205-81-47

AcTaHa (7172)727-132 MpkyTck (395)279-98-46 MockBa (495)268-04-70 PocToB-Ha-[oHy (863)308-18-15
AcTpaxaHb (8512)99-46-04 KasaHb (843)206-01-48 MypmaHck (8152)59-64-93 PAasaHb (4912)46-61-64

BapHayn (3852)73-04-60 KanvHuHrpag (4012)72-03-81 HabepexxHble YenHbl (8552)20-53-41 Camapa (846)206-03-16
Benropog (4722)40-23-64 Kanyra (4842)92-23-67 HwxHwnii Hoeropogp, (831)429-08-12  CankT-lMeTepbypr (812)309-46-40
BpAHck (4832)59-03-52 KemepoBo (3842)65-04-62 HoBoky3Heuk (3843)20-46-81 CaparosB (845)249-38-78
BnaausocTok (423)249-28-31  Kupos (8332)68-02-04 HoBocubupck (383)227-86-73 CeBacTononb (8692)22-31-93
Bonrorpap, (844)278-03-48 KpacHogap (861)203-40-90 Owmck (3812)21-46-40 Cwumchbeponons (3652)67-13-56
Bonoraa (8172)26-41-59 KpacHospck (391)204-63-61  Open (4862)44-53-42 CMoneHck (4812)29-41-54
BopoHex (473)204-51-73 Kypck (4712)77-13-04 OpeH6ypr (3532)37-68-04 Coun (862)225-72-31
EkaTepunHbypr (343)384-55-89 Jluneuk (4742)52-20-81 Men3a (8412)22-31-16 Crasponornb (8652)20-65-13
VBaHoBO (4932)77-34-06 Kuprunsua (996)312-96-26-47 KasaxcTtaH (772)734-952-31 TapxvkncTaH (992)427-82-92-69

EounHbin agpec onAa Bcex pernoHos: any @nt-rt.ru Il www.aron.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Yha (347)229-48-12
Xabaposck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnb (4852)69-52-93


mailto:any@nt-rt.ru
http://www.aron.nt-rt.ru



